## JEFFERSON DAVIS PARISH

## PLANT ENTERPRISES PRODUCTION

JEFFERSON DAVIS FARISII		TLANT EN	TERPRISES PRO	DUCTION		
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
	Finducers	Acres	Acie	Froduction	Measure	value
FORESTRY						
Pulpwood						
Pine				11,192		
Hardwood				· ·	cords	
Pulpwood (Total)				13,711		
Chip & Saw (Total)				705	cords	
Saw Timber						
Pine				2,593,485	board feet	
Hardwood				622,946	board feet	
Saw Timber (Total)				3,216,431		
Total Pulpwood, Chip & Saw,						\$2,778,263
Saw Timber FOB Mill						
Total Forestry Stumpage						\$1,499,206
(Total)						
Christmas Trees (Total)	*			100	trees	\$4,000
Forestry (Total)						\$2,782,263
FRUITS						
Blueberries (Total)	*	2.0	1,000.00	2,000	lbs.	\$3,900
Citrus						
Satsumas		5.0	100.00	500	bu.	\$10,000
Citrus (Total)		5.0				\$10,000
Fruits (Total)		7.0				\$13,900
FEED GRAINS						
Corn (Total)	*	3.0	100.00	300	bu.	\$795
Feed Grains (Total)		3.0				\$795
HAY FOR SALE						
Grass (Total)	150	16,000.0	4.00	64,000	tons	\$5,913,600
Hay for Sale (Total)		16,000.0		,		\$5,913,600
Home Gardens (Total)	3,400	,				\$680,000
Rice (Total)	135	60,800.0	53.50	3,252,800	cwt.	\$28,949,920
` '		,		- ,,		, ,

Sod Production (Total)	*	800.0			acre	\$4,000,000
Soybeans (Total)	30	6,400.0	43.00	275,200	bu.	\$1,611,571
SUGARCANE						
Raw Sugar (Total)	8	2,558.0	5,200.00	13,301,600	lbs.	\$1,596,192
Molasses (Total)		2,558.0	156.00	399,048	gal.	\$79,810
Sugarcane (Total)		2,558.0				\$1,676,002
Wheat (Total)	15	2,700.0	50.00	135,000	bu.	\$541,823
TOTAL ALL PLANT ENTERPRISES						\$46,169,873

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION						
Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
AQUACULTURE						
Crawfish (Farm) (Total)	80	15,000	Acres in Prod.	8,250,000	lbs.	\$9,900,000
Aquaculture (Total)						\$9,900,000
MARINE FISHERIES						
Shrimp (Total)				28,570	lbs.	\$60,423
Crabs (Total)				5,885	lbs.	\$5,799
Marine Fisheries (Total)						\$66,222
Alligators (Wild) (Total)				1,410	ft.	\$35,250
HUNTING LEASES						
Waterfowl (Total)	85	80,000	No. Acres		acre	\$1,200,000
			Leased			
All Other Game (Total)	*	2,500	No. Acres		acre	\$17,500
			Leased			
Hunting Leases (Total)						\$1,217,500
Honey (Total)	*	100,000	No. Hives		lbs.	
TOTAL ALL FISHERIES & V	VILDLIFE ENTERPRISES					\$11,218,972

<sup>\*\*</sup> The marine, freshwater and oyster data presented here are for the year 2005 rather than 2006. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION							
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value		
	110440015	11000011011	Troduction	mana	, arac		

CATTLE & CALVES

## JEFFERSON DAVIS PARISH ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			4,960	head	\$2,465,641
400-500 lbs.			930	head	\$518,731
500-600 lbs.			155	head	\$94,892
600-700 lbs.			155	head	\$106,543
Steer Calves (Total)					\$3,185,806
Heifer Calves					
300-400 lbs.			3,968	head	\$1,751,693
400-500 lbs.			744	head	\$388,201
500-600 lbs.			124	head	\$71,685
600-700 lbs.			124	head	\$82,599
Heifer Calves (Total)					\$2,294,178
Yearling Cattle					
700-800 lbs.			192	head	\$136,728
Yearling Cattle (Total)					\$136,728
Cow-Calf Pairs (Total)			970	pair	\$921,704
Cull Cows (Total)			1,550	head	\$586,288
Cull Bulls (Total)			62	head	\$52,424
Cattle & Calves (Total)	270	15,500 No. Cow	S		\$7,177,128
HORSES					
Brood Mares					
Race Horses	*	35 No. Broo	d Mares 17	head	\$136,000
Recreation Horses	80	150 No. Broo	d Mares 75	head	\$112,500
Brood Mares (Total)					\$248,500
Stud Fees					
Race Horses		5 No. Stalli	ions 20	mares bred	\$50,000
Recreation Horses		30 No. Stalli	ions 60	mares bred	\$30,000
Stud Fees (Total)					\$80,000
Race Horses (Total)	15		30	head	\$360,000

HORSES				
Show Horses (Total)	15		30 head	\$150,000
Recreation Horses (Total)	275		450 head	\$675,000
Horses (Total)				\$1,513,500
GOATS				
Show Goats (Total)			45 head	\$11,250
Slaughter Goats (Total)			150 head	\$18,750
Stocker Goats (Total)			25 head	\$2,375
Cull Goats (Total)			40 head	\$2,600
Goats (Total)	*	120 No. Does		\$34,975
TOTAL ALL ANIMAL ENTERPRIS	ES			\$8,725,603

JEFFERSON DAVIS PARISH \$66,114,448 155